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Problem Sheet 1 — Number |

1 | What number, when multiplied by itself,
is equal to 27 x 147?

2 | The average of three numbers is 8. Two of the
numbers are 5 and 13. What is the other number?

3 |5!'means 5 x4 x3 x2x 1. In general n! means
nx(nh-1)x(n-2)x..x2x1.

What is 101! divided by 99! ?

4 | What is the smallest number divisible by
1,2,3,4,5,6,7,8 and 9?

5 | What is the value of the following expression? ﬂ
(101%-4)(101*-1) (101*-4)(101*-1) it orguly

(101%-2)(101-1) (101%-2)(101° +1)

This problem was set by the United Kingdom Mathematics Trust for the Senior Team
Mathematics Challenge. Other questions from the challenge are available
http://www.furthermaths.orqg.uk/stmchallengepast.php

6 | Simplify the following expression giving your ﬁ%
answer as a number A

www.ukmt.org.uk/

(101 + 91)(8! + 71)(6! + 5!)(4! + 31)(2! + 1))
(101 -O1)(81-71)(6! - 51)(4! - 31)(2! - 1!)

This problem was set by the United Kingdom Mathematics Trust for the Senior Team
Mathematics Challenge. Other questions from the challenge are available
http://www.furthermaths.orqg.uk/stmchallengepast.php




ss TO Fuy
€ By,

7, > Q‘ﬁ
("@cs Problem-Solving Worksheets

www.furthermaths.org.uk

7 | A set of five numbers has:
a mode of 24

a median of 21

a mean of 20

What could the humbers be?

8 | Over the course of hnumbering every page in a book,
2,929 individual digits were printed.

If the first page is numbered 1, how many pages the
book must have?




